Sz

e (B0 AR

E—x [HEER](155)

ALy g g pt)
e |y - 4 it
= T =R = .
. B
S ¥ 5 o]
=
Iml % A
A Nk A = = = - 4
Sk [#m](15 )
Q 6 8
115 9 4 7
2| |5
711 913
6|3 114
516 |87
3 1
97 5 68
8 7 2| |

E=x [Ba“R"HRIE](105)

12E80EE 2 CREEFHILE
SHTEBHLE 4. 55yt
5 NFIIEHF 6.7l

2240201 SR w DI EE 18613008217 R 0

MW B EEF— I (Re K3t E)
RIRE—MAEEER, ERASBP AR
B —EskIiEx, TH—&£BFLEXF, T
BXFEREHMERI—ENTH(ES
1002, 28R, BEREENZSTHES,
LI R LT |

VI [EIREFE] 5 5)

TESEAP I FE E T A, ST
i = 2 = Ry = A

Zhox [E=E%](15%)

HAE NEENHENZSHEINE Fid 410
T AFE 216 AR S B EHIRRIE . (%
=W AR B BRI TS ¥ BKM S
Vi RAEAS)

£ ] [ £
% %
% AN
] (£
] [%
% £
# £
E2 % |

2 H5H4E fenxiang @laoren.com

i Al 4)

IETEAM T AT AHE T i
TR ERZHE A EFRELA A4
E=3 0

EwE b ¢ [CEPD)
(LEGREREEN

BRI, AR BEL A T e
E,—BTFEHR T WRKIEEEEFIN
Yy, — BT RN T L, — T
SEEMb e R A . — BT FEIRE
B b, 2 FREE T,

ERE, XL BT ZPHe/R, h—A
Ak AE T — AT, B BT, MRS
PN L T A8

RRATPEE R AR RS T4, Y 7e
HAREA LK/ NHITE AR, AR 1A%
BAE—aRNF—T AL

BREREE ST/ N RTSE L
Mo IRKIREMIL: “XARER, X E—
TR IR AN R R T2




